
 

 
 
This would simply involve recursion in which the length of the initial number is 
traversed. We know maximum value is an offset of exchanging MSD first with largest 
number available. 
Utilising charAt on the second number and changing to integer.  
And performing a character removal.  
There will be two options, work on the String from offset and transfer content into 
another String. 
Easier would be to create a StringBuilder since we know String is immutable. Add the 
String into the StringBuilder.  
And can perform sb.remove(….) 
 
I am still not convinced it will be this simple.  
And also unaware of any forthcoming challenges prior to the implementation. 

 


